



Section I: Computational Problems 

1. Big Sky Montana Corporation must install $1.875 million of new machinery in its bottling operation. It can obtain a bank loan for 100% of the purchase price or it can lease the machinery. [

Assume the following apply:
1. The machinery falls into the MACRS – 3 year class
2. Under either the lease or the purchase Big Sky Montana must pay for insurance, property taxes, and maintenance
3. The firm’s tax rate is 30%
4. The loan would have an interest rate of 12%
5. The lease terms call for $575,000 payments at the end of each of the next 4 years.
6. Assume that Big Sky Montana has no use for the machine beyond the expiration of the lease. The machine has an estimated residual value of $700,000 at the end of the 4th year.


























2. Applex plans to issue $10 million of 20 year bonds in June to finance a new product. The bonds will pay interest semiannually. It is now November and the current cost of debt to the high risk electronics company is 11%. The firm’s CFO is concerned that interest rates will rise and climb even in higher before the June issuance of debt. [] The following data are available:

Future Prices: Treasury Bonds - $100,000; Pts. 32nds of 100%
	Delivery Month
(1)
	Open
(2)
	High
(3)
	Low
(4)
	Settle
(5)
	Change
(6)
	Open Interest
(7)

	Dec
	94-28
	95-13
	94-22
	95-05
	+7
	591,944

	Mar
	96-03
	96-03
	95-13
	95-25
	+8
	120,353

	Jun
	95-03
	95-17
	94-03
	94-8
	-27
	13,597



(a). What type of hedge will the CFO execute to protect Applex from rising interest rates?


(b). How many contracts will be needed to hedge the interest rate risk?



(c). Assume that interest rates increase in general increase by 400 basis points, how much will Applex receive with interest rates at this level and how well did the hedge perform?





(d). Without hedging how much will Applex stand to lose on the bond issuance? 











3. As discussed in Chapter 25, the free cash flows, tax shields and horizon value
should all be discounted at the unlevered cost of equity.  This cost should be calculated based on the target’s risk, not the acquirer’s risk. Consider this situation H Corporation’s investment bankers have estimated that the target company’s beta is currently 1.3.  The horizon value should be calculated using the target company’s WACC, which is based on the costs of debt and equity after any change in leverage.[]

(a). To obtain the unlevered required rate of return calculate the levered required rate of return for the target company. Key assumptions: Risk free rate = 7% and market risk premium = 4%, beta = 1.3.  

	rsL(target firm)	= rrf + (rm - rrf)btarget firm
		=

The unlevered cost of equity, based on a 20% debt ratio, cost of debt of 9%, and a levered cost of equity of rsL(above) is:
	rsU	= wdrd + wsrsl
		=


(b). Calculate the unlevered value of operations based on the following cash flows and the unlevered cost of equity calculated above in 11(a).



		2008	2009	2010	2011	2012
	Annual free cash flow	$11.7 	$10.5	$16.5	$ 20.7	$21.9
	Unlevered horizon value 					418.3
	Total	$11.7	$10.5	$16.5	$20.7	$440.2








The PV of these cash flows discounted at the unlevered cost of equity = ______________
4. 

Franklin Company headquartered in France acquired 100% of the outstanding shares of Jefferson Inc. by issuing 1,000,000 shares of Euro 1 par common stock (Euro 20 market value).  

Immediately before the transaction, the two companies compiled the following information:

	
	Franklin BV
	Jefferson BV
	Jefferson Fair Value

	Cash & Receivables
	10,000
	300
	300

	Inventory
	12,000
	1,700
	4,000

	PP&E (Net)
	27,000
	2,500
	3,500

	Subtotal
	49,000
	4,500
	7,800

	Current Payable
	8,000
	600
	1,000

	LT Debt
	16,000
	2,000
	2,000

	Subtotal
	24,000
	2,600
	2,400

	Net Assets
	25,000
	1,900
	5,800

	
	
	
	

	Stockholder’s Equity:
	
	
	

	Capital Stock
	5,000
	400
	

	Add’l Paid in Capital
	6,000
	700
	

	Retained Earnings
	14,000
	800
	



A. Calculate the Excess Purchase Price




B. Calculate the amount of Goodwill associated with this transaction






5. Within the last 15 months identify a US based Fortune 500 merger (horizontal or vertical) and clearly list management’s primary reason for the transaction (i.e. Motives for Merger page 261). What was the acquiring firm’s stock price at the announcement and what is that stock currently trading at today? 






6.  Tutwiler is acquiring Caldwell Industries and is planning to adjust its capital structure to a mx of 50% equity and 50% debt. Based on the following information, calculate the corresponding debt level, interest expense, and tax shield for each year. The required rate of return on the debt is 9.5% (before tax). Tax rate =30%. 





[bookmark: _GoBack]


7.  Chapter 24 Bankruptcy []


Complete the missing information in order to determine the pro rate distribution percentage.
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Distribution to first mortgage (paid from sale of fixed assets)



Total preliminary distributions to priority claimaints



Total of satisfied priority claims
Total unsastified claims from all claimants
Funds available for distribution to general creditors:
Pro rata distribution percentage



Remaining proceeds from sale of fixed assets after satisfying first 
and second mortgage holders



Remaining proceeds from sale of fixed assets after satisfying first 
mortgage holders
Distribution to second mortgage (paid from sale of fixed assets 
after satisfying first mortgage holders)










Distribution to first mortgage (paid from sale of fixed assets)

Total preliminary distributions to priority claimaints

Total of satisfied priority claims

Total unsastified claims from all claimants

Funds available for distribution to general creditors:

Pro rata distribution percentage

Remaining proceeds from sale of fixed assets after satisfying first 

and second mortgage holders

Remaining proceeds from sale of fixed assets after satisfying first 

mortgage holders

Distribution to second mortgage (paid from sale of fixed assets 

after satisfying first mortgage holders)
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1 2 3 4 5
1/1/08 12/31/08 12/31/09 12/31/10 12/31/11 12/31/12



FCF 3.20 3.20 5.60 6.42 6.80
Corp Valuation Horizon Value 153.13
CF 3.20 3.20 5.60 6.42 159.93
PV 110.0763 2.8905 2.6110 4.1273 4.2740 96.1736



Value of Operations 110.08 118.66 128.17 136.29 144.46 159.93










1 2 3 4 5

1/1/08 12/31/08 12/31/09 12/31/10 12/31/11 12/31/12

FCF 3.20 3.20 5.60 6.42 6.80

Corp Valuation Horizon Value 153.13

CF 3.20 3.20 5.60 6.42 159.93

PV 110.0763 2.8905 2.6110 4.1273 4.2740 96.1736

Value of Operations 110.08 118.66 128.17 136.29 144.46 159.93


Sheet1

				1/1/08		12/31/08		12/31/09		12/31/10		12/31/11		12/31/12

		Debt		33.2		35.8		38.7		41		43.6		46.2

		0.09		2.988		3.222		3.483		3.69		3.924		4.158

		0.095		3.154		3.401		3.6765		3.895		4.142		4.389

						1.1952		1.2888		1.3932		1.476		1.5696		1.6632

						1.2616		1.3604		1.4706		1.558		1.6568		1.7556





Panel A, B, C

				1/1/08		12/31/08		12/31/09		12/31/10		12/31/11		12/31/12

		Net Sales				105.00		126.00		151.00		174.00		191.00

		Growth rate						1.2000		1.1984		1.1523		1.0977

		CoGS				80.00		94.00		113.00		129.30		142.00

								1.175		1.2021276596		1.1442477876		1.098221191

		Selling, General & Administrative				10.00		12.00		13.00		15.00		16.00



		Depreciation				8.00		8.00		9.00		9.00		10.00

		EBIT				7.00		12.00		16.00		20.70		23.00

		Interest Expense				3.00		3.20		3.50		3.70		3.90

		Debt		33.20		35.80		38.70		41.10		43.60		46.20

		Total Net Operating Capital		116.00		117.00		121.00		125.00		131.00		138.00

		Panel B

		Tax Rate		0.4

		NOPAT=EBIT(1-T)				4.20		7.20		9.60		12.42		13.80

		Less Net Investment in Operating Capital				1.00		4.00		4.00		6.00		7.00

		Free Cash Flow				3.20		3.20		5.60		6.42		6.80

		Panel C

		Free Cash Flow				3.20		3.20		5.60		6.42		6.80

		Less A-T Interest				1.80		1.92		2.10		2.22		2.34

		Plus Change in Debt		6.20		2.60		2.90		2.40		2.50		2.60

		FCFE		6.20		4.00		4.18		5.90		6.70		7.06





Perm Change in Capital Structur

				1/1/08		12/31/08		12/31/09		12/31/10		12/31/11		12/31/12

		Net Sales				105.00		126.00		151.00		174.00		191.00

		Growth rate						1.2000		1.1984		1.1523		1.0977

		CoGS				80.00		94.00		113.00		129.30		142.00

								1.175		1.2021276596		1.1442477876		1.098221191

		Selling, General & Administrative				10.00		12.00		13.00		15.00		16.00



		Depreciation				8.00		8.00		9.00		9.00		10.00

		EBIT				7.00		12.00		16.00		20.70		23.00

		Interest Expense				3.00		3.20		3.50		3.70		3.90

		Debt		33.20		35.80		38.70		41.10		43.60		46.20

		Total Net Operating Capital		116.00		117.00		121.00		125.00		131.00		138.00

		Panel B

		Tax Rate		0.4

		NOPAT=EBIT(1-T)				4.20		7.20		9.60		12.42		13.80

		Less Net Investment in Operating Capital				1.00		4.00		4.00		6.00		7.00

		Free Cash Flow				3.20		3.20		5.60		6.42		6.80

		Panel C

		Free Cash Flow				3.20		3.20		5.60		6.42		6.80

		Less A-T Interest				1.80		1.92		2.10		2.22		2.34

		Plus Change in Debt		6.20		2.60		2.90		2.40		2.50		2.60

		FCFE		6.20		4.00		4.18		5.90		6.70		7.06

		Interest Expense				2.988		3.222		3.483		3.699		3.924

		(Debt * 9%)

		Interest Expense				5		6		7		7.5		8.3

				0.09		55.5555555556		66.6666666667		77.7777777778		83.3333333333		92.2222222222

				0.095		52.6315789474		63.1578947368		73.6842105263		78.9473684211		87.3684210526





Constant Capital Structure

				Capital Structure

				Constant		Shift		Shift Prime

		Equity Risk Premium		5%		5%		5%

		Risk Free Rate		7%		7%		7%

		Beta		1.2		1.2		1.600

		Tax Rate		0.4		0.4		0.4

		rsL		13.00%		14.09%		15.00%

		rd		9%		9.50%		9.50%

		wd		0.3017		0.5		0.5

		ws		0.6983		0.5		0.5

		rsu		0.117932		0.117932		0.1225

		WACC		0.1070708		0.098932		0.1035

		LT Growth Rate		6%

						1		2		3		4		5

				1/1/08		12/31/08		12/31/09		12/31/10		12/31/11		12/31/12

		FCF				3.20		3.20		5.60		6.42		6.80

		Corp Valuation Horizon Value												153.13

		CF				3.20		3.20		5.60		6.42		159.93

		PV		110.0763		2.8905		2.6110		4.1273		4.2740		96.1736

		Value of Operations		110.08		118.66		128.17		136.29		144.46		159.93

		Debt Level @30.17%		33.21		35.80		38.67		41.12		43.58		48.25

		Interest Expense				2.99		3.22		3.48		3.70		3.92





Sheet5

		Constant Capital Structure

				1/1/08		12/31/08		12/31/09		12/31/10		12/31/11		12/31/12

		Value of Operations		110.0762866158										153.1310281533

		Value of Debt

		Interest Expense
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Assets
Current assets $400
Net fixed assets 600
Total assets $1,000



Liabilities and equity
Accounts payable $50
Accrued taxes 40
Accrued wages 30
Notes payable 180
   Total current liabilities $300
First-mortgage bondsa 300
Second-mortgage bondsa 200
Debentures 200
Subordinated debenturesb 100
Common stock 50
Retained Earnings (150)
Total claims $1,000



a All fixed assets are pledged as collateral to the mortgage bonds.
b Subordinated to notes payable only.



Other inputs (in thousands of dollars):



Proceeds from sale of fixed assets = $450
Proceeds from sale of current assets = $250
Trustee's costs = $50



Total claims (including trustee expenses) $1,150



At the time it defaulted on its interest payments and filed for bankruptcy, the McDaniel Mining Company had the 
following balance sheet (in thousands of dollars).  The court, after trying unsuccessfully to reorganize the firm, decided 
that the only recourse was liquidation under Chapter 7.  Sale of the fixed assets, which were pledged as collateral to the 
mortgage bondholders, brought in $450,000, while the current assets were sold for another $250,000.  Thus, the total 
proceeds from the liquidation sales were $600,000.  Trustee's costs amounted to $50,000; no single worker was due more 
than $2,000 in wages; and there were no unfunded pension plan liabilities. Determine the amount available for 
distribution to all claimants.










Assets

Current assets $400

Net fixed assets 600

Total assets $1,000

Liabilities and equity

Accounts payable $50

Accrued taxes 40

Accrued wages 30

Notes payable 180

   Total current liabilities $300

First-mortgage bondsa

300

Second-mortgage bondsa

200

Debentures 200

Subordinated debenturesb 100

Common stock 50

Retained Earnings (150)

Total claims $1,000

a All fixed assets are pledged as collateral to the mortgage bonds.

b Subordinated to notes payable only.

Other inputs (in thousands of dollars):

Proceeds from sale of fixed assets = $450

Proceeds from sale of current assets = $250

Trustee's costs = $50

Total claims (including trustee expenses) $1,150

At the time it defaulted on its interest payments and filed for bankruptcy, the McDaniel Mining Company had the 

following balance sheet (in thousands of dollars).  The court, after trying unsuccessfully to reorganize the firm, decided 

that the only recourse was liquidation under Chapter 7.  Sale of the fixed assets, which were pledged as collateral to the 

mortgage bondholders, brought in $450,000, while the current assets were sold for another $250,000.  Thus, the total 

proceeds from the liquidation sales were $600,000.  Trustee's costs amounted to $50,000; no single worker was due more 

than $2,000 in wages; and there were no unfunded pension plan liabilities. Determine the amount available for 

distribution to all claimants.


